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Definice podmatic A
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Definice podmatic A
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Definice podmatic A

A ary aoo asa
asy asp d34
as1 as a4

p ap ax Q1 dp

A= |as ass as Az = | a3 azx as

s s A 41 Aa4o A




Determinant matice 2 x 2

ayr a
a1 az




Determinant matice 2 x 2

a1 age
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a1 agpe
az1  daz

(_1)1+1
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a1 age
az1  daz

(_1)1+1_a11




Determinant matice 2 x 2
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ayr a
do1 a2

(-1)"*"ayy-a




Determinant matice 2 x 2

ayr a
a1 a

= (—1 )1+1 -811-322+(—1 )2+1




Determinant matice 2 x 2

ayr a
do1 a2

= (=1)""ayq-amp+(—1)*"" az




Determinant matice 2 x 2

= (=1)""ayq-ap+(—1)*""az-a12

’ a2




Determinant matice 2 x 2

ayr a
a1 az

= (=1)"" a1 app+(—1)*""-a1-a12 = aj1a—apar




Determinant matice 3 x 3

a1 a2 a3
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141 dgo  ags
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Determinant matice 3 x 3
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as1 ds2 ass

+ (—1 )2+1 aos1
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Determinant matice 3 x 3

a1 a2 a3

141 dgo  ags
a1 ap as| =(-1) Hayy 25 a3
ds1 ds2 ass
241 a2 ais 341 a2 ais
+ (—1)"H ap +(=1)°"ag
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Determinant matice 3 x 3

a1 a2 a3

141 dgo  ags
ax axn axs| =(-1)'"a 23 ass
as1 dasz ass
241 a2 ais 341 a2 ais
+ (—1)"H ap + (1) ass
dsp ass dgo  ags

= di1dz2d33 — d11dz3d32 — d21a12433
+ @21a13832 + a31a12823 — az1a13d22




Determinant matice 3 x 3 — Sarusovo pravidlo

ayn a2 a3
azy dazo aps
az1 dsz2 ass




Determinant matice 3 x 3 — Sarusovo pravidlo

aty
a1
ast
aty
an1

aiz
a2
ase
aiz
ago

ais
an3
ass
ais
ags



Determinant matice 3 x 3 — Sarusovo pravidlo

att
a1
ast
aty
an1

aiz
ago
ase
aiz

a2

a3
a3

ass
aisa

ao3

= da11d224a33



Determinant matice 3 x 3 — Sarusovo pravidlo

ayn a2 a3
dp1 dp2 23
d31 dz2 dass
ayr a2 a3
dp1 do2 ao3

= a11d224d33 + az14s32413




Determinant matice 3 x 3 — Sarusovo pravidlo

ayn a2 a3
dp1 dp2 ao3
dz1 dz2 dass
ayr a2 a3
dp1 do2 ao3

= 8118224833 1 821832813 + d31a12823




Determinant matice 3 x 3 — Sarusovo pravidlo

ayy a2 ag
dp1 dp2 o3
dz1 dz2 dass
ayr a2 a3
dp1 do2 ao3
= 841824833 + ap1d32a13 + a31a12823

— a13d22a31




Determinant matice 3 x 3 — Sarusovo pravidlo

ayn a2 a3
dp1 dp2 dao3
d31 dz2 dass
ayr a2 a3
dp1 do2 ao3
= 841824833 + ap1d32a13 + a31a12823

— a813do2831 — dp3dszpai




Determinant matice 3 x 3 — Sarusovo pravidlo

ayn a2 a3
dp1 dp2 ao3
a3t dz2 dass
ayr a2 a3
dp1 do2 ao3
= 841824833 + ap1d32a13 + a31a12823

— a813dp2831 — dp3dszpdi1 — azzai2dzq




